Level-3 Organometallics L2d

(-Elimination Mechanism

(3) (-Hydrogens cannot become syn-coplanar

With bulky alkyl groups, it may not be sterically possible for the

(-H to get close to the metal

EXAMPLE  - Cr(CMe3)4 is a reasonably stable tetrahedral metal alkyl. Although the tert-butyl group does contain (-H's, the bulkiness prevents these H-atoms from getting too close to the metal

[image: image1.wmf]M

EXAMPLE -

[image: image2.wmf]C

M

e

3

C

p

(

C

O

)

2

M

o




metal vinyl




metal aryl

In both these examples, the sp2 carbon requires 120o angles and the (-H cannot approach the metal. 
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EXAMPLE - here the transition state cannot become syn-coplanar because atoms are fixed in ring system. 
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